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SECTION-—A

Note :- - Adl gnestions are compulsory.

Complete the following reaction :
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HC = CH + H,0 -—2478%04

How will you convert acetyiere to 2-octyne ?

Complete the following reaction :

HC-C - C - CH, =M LA "0,
3 C\/ 3
' d

Explain Williamson's synthesis of ethers.

Why benzaldehyde is less reactive than acetaldehyde
towards nucleophilic addition reactions ?
3114(2416yQFV_203ﬂhttp:ffww.gnduqnline_.cam : _((hmd'}

wo suuonpus- mmm,/diy

http://www.gnduonline.com

6. Complete the following reaction and provide a suitable

mechanisim :
| —.
HaC” ~H p-TsOH

7. Acetyle chloride is more reactive towards nucleophilic
subacteiion reaction than ethyl chioride, why ?

8. 24.6-trmethylbenzoic acid is difficult to esterify directly.
Why ? 1%8=8

SECTION—B

Note :— Attempt any FIVE questions. All questions carry

equal marks.

9. Metal ammonia reductinn of alkyne proceeds via enti-
addition. Explain. _

10.  Alkynes are more reactive than alkezes twards nucleophilic
addition réactions. Explain.

11. Ethyl-tert-butyl ether can be prepafed vy reacting ethyl
indide with sodium tert-butoxide and not b, reacting tert-
butyl iodide with sodium ethoxide. Justify.

12. Discuss the mechanism of acid-catalyzed dehydration of
aleohols to form ethers.

13. With mechanism, discuss how will you distinguish between

: 2-pentanone and 3-pentanone ?
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14. Provide suitable conditions and mechanism for the fo]lowing
CONVersion :

o—d

15. Write down the base-catalyzed mechanism of hydrolysis
0. €813,

16. Explezs why decarboxylation in malonic acid is facile than

acetic ac'd, 5%x4=20
SECTION—C
Note :(— Attempt a.5 T WO questions. All questions carry
equal marks.
17. (a) Complete the toullewing reaction and provide a
suitablemechanisi :
H, |
H,C- C —C=Cli+ Har oo, 3
(b} Discuss various factors responzitle for the acidity
of terminal alkynes. 3
18. (a) Complete the following reactions :
HaC
Q \B‘; +HC! ——a
e CH
(@ oD +ond
O 3
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(b) Write a note on Crown Ethers. 3
1. {a) Provide a suitable mechanism for the following
conversion : ' . .
0 o 4 0
sHealSitns
3
(b)Y Complete e following reaction and provide a suitable
mechanism :
y e . .
@J\C“s N
. 3
20. (a) Complete the following reaction and provide a suitable
mechanism :
d OC.H Sudium cthoxioe
O
O
3
(b} Provide a suitable mechanism for the following
conversion :
O
o 0 oa .
cszo)l\/'Locsz CoHsONa. Q/U\OH
BB 3
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